log[(Y/AY) / (Y/AAY),)] HAULAB -Y-Kontrast
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CilCw=(YIBY)(YIAY), normiert fir ( YIAY),
100C* =S(Y/Yp)'=d  (Y4=100,Y,=13,5=180,1, n=0,31, d=46,8)[
L*=r (Y/Y)"=d (r = s(Yy/Yy)"=105,88L* = r-d =59,0) [1b)

Y_curve, ij

38, Yuij=13, L*uij=50

kij= 1884 (YIAY)/(YIAY),=1,86
=314, L*kij=173.4.(YIAY)/(YIAY),=1,01
k=1, Ykij=302, L*kij= 1710(Y/AY)/(Y/AY) =0,55

k=0, Ykij=301, L*kij= 1708(YIA\0/(YIAY)U »=90,486
Mpy = N = 0,310 ==¢0,26 .
[ T iyt 4 0=
my = 0,287 Law=40cd/h
Anwendungs-
! bereich
N 0,1 1 105 "Y,=18100 v
_ 1 0 1 Y,=13 2 logY
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